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While preparing teaching learning material, teacher should keep
this in mind

1. Instructions of higher authorities

2. Allotted resources

3. Different types of children in classroom

4, Parents
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These are responsible for teaching learning of children with
Special Needs in school

1. Non-teaching staff

2. Peer group
3. Head Master
4. Parents
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Name of the scheme implementing at present in Education
Department of Andhra Pradesh under auspices of the Govt. of

India.
1.
2.
3.

4.

Sarva Shiksha Abhiyan

Rashtriya Madhyamik Shiksha Abhiyan
Samagra Shiksha

Rashtriya Bala Swasthya Karyakram
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4
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The percentage of pass marks in examinations for general
students
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35%



When do teacher needs to reinforce the Children With Special
Needs in classroom

1. At every stage
2. Occasionally
3. Sometimes

4. Not needed
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These children are to be motivated very often in classroom
1. Thalassemia

2. Intellectual Disability

3. Haemophilia

4. Muscular Dystrophy
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Rehabilitation Council of India Act - 1992 was implemented
from this date
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1.

2
3.
4

22.06.1992
22.09.1993
22.07.1992
22.06.1993

Individualized Education Plan is essential to this children
1.

A

3.

4

Children from backward classes
Children from scheduled castes & tribes
Children With Special Needs

Out of school children
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10.

While teaching about “the structure of human body” to Children
With Special Needs, this teaching learning
materials are to be used.

1.
2.
3.
4

Blackboard
Models
Flash cards
Charts
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Teaching about Agricultural methods are very useful to this

children

1. Intellectual Disability

2. Visual Impairment

3. Cerebral Palsy

4, Parkinson’s Disease
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11.

To understand the climatic conditions, teacher should follow this
teaching method in inclusive classroom

1.
2.
3.

4.

Discussion — Demonstration method
Lecture method

Field trip

Experiment method
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12.

Among the following activities these are conducted by the
teacher to prepare the children for psychomotor readiness

Cutting papers

Drawing

Teaching how to behave in school
Holding pencil
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13.

14,

“Mnemonics” strategy is very easy to remember the concepts for
these children

1. Intellectual Disability
2. Hemophilia
3. Autism

4, Specific Learning Disabilities
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To explain ‘Sound’ topic to class IX students, the appropriate
teaching method is

1. Lecture method
2. Discussion

3. Experimental
4. Role play
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15.

16.

Visual Acuity, Visual field are
1. Both are different

Both are same

Acuity related only

Field related only
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This symbol is used to identify ¥100 currency note by persons
with blind

1. Triangle
2. Square
3. Circle

4. Rectangle
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17.

18.

A student writes 1974 instead of 1947 very frequently. He may
have

1. Visual Problem

2. Hearing Problem

3. Specific Learning Disabilities
4, Health problems
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School should have this facility for the children with cerebral
palsy

1. Braille signage

2. Speech therapy

3. Ramp with railing

4. Scholarships
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19.

20.

National institute for the empowerment of persons intellectual
disabilities was established in India in this year
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1. 1973
2. 1983
3. 1974
4. 1984

This education policy is being implemented in India for persons
with disabilities

Special Education
Inclusive Education
Integrated Education

General Education
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Intelligence quotient of students with specific learning disability

1. Below Average

2 Average, Above average

3 Low

4 _ High .
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This disability is not covered in National Trust Act - 1999
1. Autism
2. Cerebral Palsy

3. Intellectual Disability

4. Dwarfism
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23.

24,

“Those who are unable to do their own works, who needs to be
supervised, attention of others are required are called as persons
with intellectual Disabilities”. — is derived by

1. Smith

2. Benda

3. Louis Pasteur
4, Einstein
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To assess Autism, this test is to be administered

1.  BERA

2. BLOOD

3. ISAA

4. GLAD
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25.

26.

217.

Hellen Keller who is deaf and blind was born in this year
RIQ 6 QELIR IR 626RR 69N I 9F 7 F24 KREM

1. 1970
2. 1870
3. 1880
4. 1980

39 December of every year is observed as

1. Down’s Syndrome Day

2. Autism Day

3. International Day for Persons with Disabilities
4, (Braille Day
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Having two or more disabilities is called
1. Multiple disability

2. Autism
3. Intellectual disability
4, ADHD
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How can students help peers with special needs

Ignore needs

Avoid them

Ask how to help

: Do nothing
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Students with Attention Deficit Hyperactive Disorder are related
to

1. Intellectual Disability
2. Hearing Impairment
3. Specific Learning Disabilities

4. Autism
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30.

31.

To identify the reading disability these tests are to
administered

1. Unit tests
2. Interview
3. Diagnostic tests

4, Physical tests
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32.

33.
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34.
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36.
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37.
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53.
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S7.
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59.

60.
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61.

62.

63.

64.

Identify the grammatically correct sentence.

1.

2
3.
4

She is beautiful then her.

She is beautiful than herself.
She is more beautiful than Gita.
She is beautiful than Gita.

Identify the correct verb form for the sentence:

Krish and Radha on their way to the airport.
1. is

2. are

3. have

4. was

Choose the term that refers to the study of celestial bodies:

1.

2.
3.
4

Geology
Astronomy
Astrology
Geography

Choose the correct modal verb to express possibility:

1.

2
3.
4

can
must
might
should



65.

66.

67.

68.

Choose the correct capitalization for the start of a sentence:

1.

2.
3.
4

the dog is barking.

The dog is barking.
the Dog is barking.
The Dog is barking.

The first section of a biographical sketch is typically about:

1.

2
3.
4

Career and achievements
Personal life

Legacy

Introduction

Choose the sentence in the present perfect continuous tense.

1.

2.
3.
4

She has lived here for five years.

They are watching a movie.

He has been working on the project for hours.
I will finish my homework soon.

Choose the helping verb used in the future continuous tense.

1.

2.
3.
4

has
had

is

will be



69.

70.

71.

72.

“I enjoy reading novels.”
Identify the type of sentence:
1. Imperative

2 Interrogative

3. Declarative

4 Exclamatory

She was tired from working all day.

Choose the correct compound sentence transformation of the
sentence above. (imaginary sentence)

1. She was tired from working all day, and she went to bed
early.

2. She was tired from working all day, as she was asleep.

3. She was tired from working all day, because she was
exhausted.

4. She was tired from working all day, however, she

stayed awake.

Choose the sentence that contains a relative clause:

1. “She laughed loudly.”

2 “He saw the movie.”

3. “The man who lives next door is very friendly.”
4 “They went to the beach.”

The new policy was announced last week; , It has
already made a significant impact.

Choose the option that fits the blank.

1. nevertheless
2 therefore

3. despite

4 similarly



Choose the correct sequence of the words in which they occur in
a dictionary.

I. Shaky

ii. Space

iii.  Shallow
Iv. Small

1 i, i, iv, i
2 i, i, dii, iv
3. i, 1, v, i
4 iv, i, iii, ii

Choose the correct spelling of the word.

1. embarasment

2 embarrasment
3. embarassmant
4 embarrassment

Select the example where the indefinite article is used in the
sense of a ‘certain’

1. A lion is fierce.

2. A Mr. Smith is online.

3. An uncle of yours asked about you.
4. A book was taken by the boy.

She finished the race _ her competitors.
Choose the correct preposition that fits the blank.
1. in back of

2. in front of
3. ahead of

4 contrary to



77,

78.

79.

“How can you possibly imagine he’s a crook? He looks so

ordinary!”

Choose the synonym that means ‘crook’.
1. thief

2 lawman

3. innocent

4 gentleman

A headmaster once told his father that what Einstein chose as a
profession wouldn’t matter, because “he’ll never make a success
at anything.”

Choose the antonym of the word “success”.

1.

2.
3.
4

achievement
failure
accomplishment
triumph

Choose the indirect speech of the following sentence:

He said to me, “What are you doing?”

1.

2.
3.
4

He asked me what am | doing.
He asked me what | am doing.
He asked me what I was doing.
He asked me what was | doing.



Despite the challenges, she decided to her dreams and
pursue them with determination.

Choose the phrasal verb that fits the blank.
1. hold on to

2 look out for
3. turn down

4 come up with

Identify the plural noun from the following:
1. Physics

2 Politics

3. Gymnastics

4 Police

Choose the sentence in which the interjection expresses
excitement.

1. Oh no! I forgot my homework.
2 Ouch! That’s a big question.

3. Yay! We’re going on vacation.
4 Hey! Watch out.



83.

84.

Read the following passage carefully.

India’s education system is a blend of ancient wisdom and
modern knowledge. The ancient universities of Nalanda and
Takshashila were renowned centers of learning. Today,
institutions like the Indian Institutes of Technology (11Ts) and
Indian Institutes of Management (I11Ms) continue to uphold high
standards of education. India’s emphasis on education drives
innovation and research across various fields.

The ancient universities of Nalanda and Takshasila were known
for their

Choose the option that fits the blank.
1. sports facilities

2 medical research

3. centers of learning

4 architectural design

Read the following passage carefully.

India’s education system is a blend of ancient wisdom and
modern knowledge. The ancient universities of Nalanda and
Takshashila were renowned centers of learning. Today,
institutions like the Indian Institutes of Technology (11Ts) and
Indian Institutes of Management (I1IMs) continue to uphold high
standards of education. India’s emphasis on education drives
innovation and research across various fields.

Identify the modern institutions mentioned in the passage:
1. Nalanda university and Takshashila university

2 Harvard university and MIT

3. Oxford university and Cambridge university

4

Indian Institute of Technology (IITs) and Indian
Institutes of Management (11Ms)



85.

86.

87.

88.

Choose the best option that fits the blank.

Oral communication involves
1.

2
3.
4

Identify the activity that promotes comprehension and content

writing
reading
speaking
composition

mastery through active engagement with the test.

1.

2
3.
4

Reflective reading
Mechanical reading
Loud reading
Combined reading

Identify the advantage of the Direct Method.

1.

2.
3.
4

Focus on literature

Natural learning progression
Clarity in meanings
Controlled vocabulary

Identify an advantage of micro-teaching:

1.

2.
3.
4

Focuses on multiple skills at once

Provides immediate and constructive feedback.
Uses 2 hour periods

Required no feedback devices

and understanding.



89.

90.

91.

English is the most popular language on the
Choose the best option that fits the blank.

1.

2.
3.
4

television
internet
radio
newspapers

Identify a method to enhance the ability to speak English.

1.

2.
3.
4

Writing essays

Reading silently

Translating texts

Using greetings, dialogues and role plays

Anand bought a watch for ¥682. This amount includes 10%Tax
on the marked price. Then the marked price is (in Rs.)

2R 682 6Q 601G A @EMI | ¥EF giea e gny
QUEQ 10% @Q (18 QLT | 6069 4 NI (TIER)

1.

2.
3.
4

600
610
620
630



92.

93.

94,

The area of Trapezium Shaped field is 240 m?2. The distance
between two parallel sides is 15m and the length of one of the
parallel sides is 20m. Then the length of the other parallel side is
(in meters)

QIIGAL ARIAQ IR 6LQ QTR 240 Q.4. | QAG AN
Qg RIA 99EI15 &, 9&° 60N AIBY AR 6L
20 &1 1 6669 2R ATILQ FIFA 65614(F1.6Q)

5

35

12
300

> L e

If ZAand ZC are opposite angles in a parallelogram ABCD
then the statement that always true is

ABCD QIFI28@ 68868 A, ZC 905 AFHIR 6116 626/,
Q0 Q@ IQ Q! A0RS
1. ZA-ZC=90°

2. LA+ £C =180°
3. ZA+ £C =360°
4 LA-ZC=0°

| 9x*y? (32 - 24) | +[27xy(z - 8)] =

1. X(y+2)
2 yz
3. Xz
4 Xy



95.

96.

The product of a non - zero whole number and its successor is
always

1. an even number

2. an odd number

3. a prime number

4, a composite number

QIS LR AYBASYI 9IS NLIQ QLG L°HIQ FETR
ARG

1. 661G gl QG|

2 641G 2IgQ Qs

3. 691G 691G QoG]

4 601G 601TR Q°Hyl

When a die is thrown, the probability of getting a number which
is a multiple of both 2 and 3 is

60T REEIIT FIPIRRNERER 2] A°HYIT @@ 2 B3 Q
Q8o 6291 QIR ARSI

1.1
, 1
3
3. &
6
4.0



97.

98.

99.

The smallest number which must be added to 70169305 so as to
obtain a sum which is divisible by 11

70169305 QT 11 gIal FRIFE 6291 AR YR 6QlT
QAR @G Aoyl

L

> w N

3

4
5
6

The difference in the measures of a pair of complementary
angles is 24°. Then the angles are

651G 6QIGI 2GYaR 6918 FIIER IRy 24° 626@, 62T

C@IS19%

1. 30°, 54°
2. 78°, 102°
3. 33°, 57°
4 24°, 48°

The median of first 5 composite numbers is
gelel 56 6415e QHIGGaa A=Al

1.

2.
3.
4

5
6
;
8



100. The volume of a cube with side 11cm is (in cm?)
11 6Q.4. QIg G9] AAAAQ AR (R.62.51.6Q)

1. 121
2. 1331
3. 12321
4. 11

101. One of the following numbers is a prime number?
Qg IQ 671R@ A°HUIT

1. 81
2. 87
3. 91
4, 97
102. (4-3)2 L
1. 16
2. 1
3. 64
s L
64

103. If 23% of 40 is x then 40% of 23 is
QT 40 Q23% X, 6969 23Q 40%

1. X
, 1
X
3 9x
. X
9



104. There are 40 students in a class. Number of girls are 10 more

105.

106.

than the number of boys. Then the ratio of the number of girls to
number of the boys is

6OlIGNT 6EEI16Q 40 6 JRIE 228 | 96 QRRlE Ayl
QAR A°EYl AV 10 YD 626R, ARRI YG° RS A°FHYIQ
294IQ

1.

2.
3.
4

A toy was bought for ¥72 and sold at ¥80. The profit percent is

772 6Q 69N 6YRQl @6l W0 6Q ¥ FAIN | 6662 AW
SORG!

1. 11l
9
10
8
4 10l
9

The Area of a Rhombus whose diagonals are of
lengths 24cm and 38cm is (in cm?)

24 6Q.31. 9Q° 38 62,41, 6344 IR QRG @4 29I AR
6RQTR(2.69.61.6Q)

1. 345

2. 456
3. 567
4. 912



107.

108.

109.

%5000 is invested at 10% simple interest rate p.a. Interest at the
end of 3 years is (in Rs.)

QTR 10% QI R WBO00 A FR6AIT PN |
3 9F 66960 AR AARY (SFIER)

1. 1500
2. 150
3. 500
4 1000

The order of Rotational symmetry of a Regular Hexagon is
@ 991 99eFa gde goaiey aaaie
1.

o o o1 b~

2.
3.
4

An electric pole of 18m high casts a shadow of 24m. Under
similar condition the height of a Building that casts a shadow of
length 18m is (in meters)

18 4. @96l I8 691N AQUQ 2at 24 §. 6Gdie eIl 98
@6Q | 698 ARW6A 18 7. 6G44a 21 98 QQAIRAS AR
Q@3I(5.6Q)
1. 12

135

2
3. 12.5
4 13



110. Number of leap years between 1887 and 1897 are ....
1887 4G° 1897 C1IEQ &SI &) @F QI

111.

112.

1.

> w N

3
10
4
11

Number of zeros in 100 crore, 100 million, 100 lakh and 10
Billion respectively

100 6QIG, 100 FRAR, 100 AV 9L° 10 SRAKER S
GRSl Q2IFEE

1.

2.
3.
4

98,710
7,8,9 11
97,10,8
11,7,8,9

If A=x*+2x—=3 B=2x*-x+4 and C= x*+3x—2then the
value of A—B+C is

QEA=X>+2Xx—3,B=2x>—x+4 4@° C=x’+3x—2 626m

A-B+C Q¢

1. 6X+9

2. 2x° —6x+9
3. 6x-9

4 —2x* —6x—9



113.

114.

115.

For any polyhedron Euler’s formula is
6Q6@16d @gald A98 TFRR AR ARRAT IAQ

1. E+F-V=2
2. F-E-V=2
3. E-F+VvV=2
4 F+V-E=2

The mode of 3,7, 5, 3, 7, 5, p is 7 then the value of p is
3,7,5,3,7,5 p QRldQ 00I@ 7 626@ p @ FnY
3

1

2. 5
3. 7
4 8

The problems faced by the students in ‘Problem solving method’

a. Unable to do the calculations properly
b. Defect in selecting a proper method

C. Students loss their self-Discipline

d. Unable to analyse the problem properly

A0 QAR IBG'6Q TVICIER AFHIG 6292 AAQYI
a. 9991 0] QIR6Q KaQIq 229
b. QUYS IVEG 9LQ AGIEQ GF

ISR 6ACAFQ -G 2AURLS
QG A0R AIFER F6HTE RRQIQ 2AA
a,b,c

b, c,d

a,b,d

a, cd

> 0o Poa o



116. “Hanshita, a 8" class student proved 107 = ﬁ using the
formula a™" = %(a # 0).” This statement belongs to

1 Inductivism

2 Deductivism
3. Generalisation
4

Logical Thinking
“@°AGI FIF1 R6El 841 65411 aglel a" = %(a;& 0) Q@ 4Q

QU920 98 107 = -~ 96T RHIRE GAI I — T2l A2 A°YD

1. NN
2. 2L
3. ARIIQAS TR

4.  Qlaades

117. “Explaining Mathematical Methods’ related to
1. Problem solving
2. Connection
3. Communication
4, Reasoning and Proof
"OEIe ARGGE QU @QQI Y8l A YD

1. QAAQY QRIS
2.  Q°6QlQl
3. QAU 2R

4. @S] &Sl Q° Jell€l



118. Observe the following

1x1=1

11x11=121

111 x 111 x 111 = 12321

1111 x 1111 x 1111 = 1234321

The above model belongs to

1. Recreational value
2. Readiness value
3. Cultural value
4. Disciplinary value
Qg AR @A |
1x1=1
11 x11=121

111 x 111 x 111 = 12321
1111 x 1111 x 1111 = 1234321

QUEAIB QISIG Y2l A2 YD

1.

2.

6RI0GA MY
Jee qmy
ArYER M

9JGFmICle ¢md



119. Total Number of Cuboid - shaped roads in OBB -

Mathematics kit
OBB - Ql&ie GT?G\'GQ 2l 64119 IACUR N @SB Q°GMI

120.

1
2
3.
4

o1
55
10
100

Advantages of objective type tests

a.
b.
C.
d.

Conducting such exams is easy
Speed and style of writing can’t influence
enhance language ability

It takes less time to write the answers

QgAY gaIQ JQ1RIQ U6IGIS)

ApPLODDE o 0 T ®

@@ 919 IR R0l AeR
CANIQ 631 I9° 696 RU6Q YRGS Q6Q AT
QIS @Y QF Q6Q

QAQ EMYUR K| A1 MICT
a, b,d
b, cd
a, c,d
b, c a



121. The motion of a needle in a sewing machine is

122.

1.

2
3
4
Jen@ 661906Q 2l g8a 96
1.
2.
3.
4.

Rectilinear motion only

Periodic motion only
Circular motion only
Both periodic and circular motions

6RAR 691 9G

6290 219eN 96

6QeR Q@A O

QA ISR I 91 95

In scientific terminology, these are commonly called as “fluids”

1.

2.
3.
4.

Liquids and gases

Solids and liquids
Solids and gases
Liquids only

CARITP AARITIER , NEIQ ARJIQEIGS ‘'JQL QIR QRIKN

1

2
3.
4

QR JQ18l e QUL AQle
Q0R 98° GoR A

Q0R \9Q° QuIQIY QI
6Q9R R Al



123. The non-essential requirement for producing fire is

1. Oxygen

2. Fuel

3. Nitrogen

4, Temperature

289 A9R 2GS AR AR FIQR
1L 2LQ

2. Q09

3.  Q99IeFIe

4. QG

124. Match the fibres in SET-A with their uses in SET-B

SET-A SET-B

A. PET P. Carpets
B. Nylon Q. Dresses
C. Rayon R. Bottles
D. Polyester S. Parachute
SET-A Q ©39GQ SET- B 6Q QU2 AL 6719 @Q
SET-A SET-B

A. JoG P. QIRG!

B. ?lame Q. @Y

C. 6QEQ R. 6Q1OM
D. 9RaQ S. dIQIQYY
1. A-R, B-S, C-Q, D-P

2. A-S, B-R, C-P, D-Q

3. A-S, B-R, C-Q, D-P

4 A-R, B-S, C-P, D-Q



125. This is not a greenhouse gas

1. Water vapour

2. Carbon dioxide

3. Nitrogen

4, Methane

92l 200 92 JUId 962
1. NS

2 2GFIQRIE)

3. A7l

4 deaR

126. The animals that have sharp cutting and strong grinding teeth are

A. Tiger B. Zebra C. Dog D. Horse
1. Aand C

2. B and D

3. Aand D

4, Band C

QTR IR G1VE 9Q° 6989 AR G@ Q@S ]I Y141
A. Qlg B. @9l C. Q99 D. 6QI&

1. AGC

2 BGD
3. AGD
4 BGC



127. The irrigation method used to watering for lawns and coffee
plantation is
1. Sprinkler method

2. Drip irrigation method
3. Chain pump method
4, Dhekli method

A9F AIATF G *TRIAG R 6QINIR AN NIGS
FREARR ARG

1. Q80 996

2. QRI AREAeR G

3. 69Q A%t A8G

4. 608 ARG

128. Identify the correct statement about pulmonary vein

1. It carries deoxygenated blood to heart
2. It carries oxygenated blood to lungs
3. It carries deoxygenated blood to lungs
4. It carries oxygenated blood to heart

JAgQIe dal A1 A0 @B

1L 2 9008 Ge0Qq ARIAELIe A8 Qe @Gl
2. N8 gQgq 7e0q AALINYS OB 928 @2l
3. N2 ggQ fe0q AQLINTeIe a8 @28 @Gl
4. N2 2004 G90Q UCRINYS OB QAR *GaIN



129. The plant that shows vegetative propagation through stolon is

130.

1. Strawberry

2. Ginger

3. Potato

4, Colacasia

QLI F1IUCIEQ UMD @ @Y QRQ
1. e

2 2Q

3. 2

4 AIQ

Find the correct statement about ecological pyramid
1. Carnivores are at the base of pyramid

2. Energy trapping is high at the top of pyramid
3. No producers at the top of the pyramid
4. Carnivores produce energy in pyramid

JoQeig daIfi Ao A0] @6
ArIEIeIce TR FJRea Qed
JUNRQ 418960 2@ 98 G248 99
JFRQ 91969 AYIGRAIER Q23 QI
ArAIGIAIER TAUNRER 989 e 293

'.—\

Ll



131. Choose the correct set of person and the tools used by them

1.

2.
3.
4.

Farmer-Pickaxe, Barber-Brush, Tailor-Bobbins

Farmer-Brush, Barber-Trowel, Tailor-Pickaxe
Farmer-Trowel, Barber-Pickaxe, Tailor-Brush
Farmer-Bobbins, Barber-Pickaxe, Tailor-Trowel

QU@ \IQ° 6QFIER IQLE [IG 262Ia A0R 691F1g F96' @9

1.

2
3.
4

PVR-906, @YIR-9Y, AF-T7Q
QVR-9Q, VEIR-013, @G- 90
Q9R-0/3, A€Ia- 996, @e1- 99
QUR-95Q, ALIR- 96, aa1- AT

132. To avoid traffic disturbances and accidents, everyone must follow

1.

Hown

Tips on the Whatsapp
Google map
Traffic rules
Traffic updates on FM

QTR FYHR 6 QUGG YRG! AR ATER 9B AGAQE
@QQ! FQA1 26S |

1.

2.

3.

QeI 6@ T

Jom ARG

QITR Gagl

FM 6Q QITR 2629



133. The head quarter of Alluri Sita Rama Raju district is

1. Araku

2. Parvathipuram

3. Paderu

4, Narsipatnam

2R APIRATAF FRIQ FHI6RL
L. Qg

2. QISeIgas

3. dI6gQ

4 FQAAISRIE

134. The River Penna does not flow through the following district of
Andhra Pradesh
1. Nandhyal
YSR Kadapa
Satya Sai
SPS Nellore

2.
3.
4.
QYIQ 2FY6RE6Q 6ARNRA1 JRIEE 68Q YRl SR
1 QIQYIR

2 YSR Q@I

3 ANAIR

4 SPS 62RQ



135. Identify the correct statements in connection with Latitudes

a. Latitudes are farthest at the Equator and meet at the poles
b. Latitudes never meet with each other

C. Latitudes are known as Meridians

d Latitudes are invisible horizontal lines that run parallel to

the EquatorK
2Q1°8 ARG A0R NG FLS /R

a VGG SFYEaE 0l6Q QAR OF 6¢1Q FRTER
cigielng

b.  AVAYGR QLR 6@6Q A8 FelI
C. 2QI°EGER C1-IIT 6Q8H @RI
d UYL YA AR QFYQI 2IQEY 6Q Sl
1. a, c
2. b, d
3. b, c
4, a, d
136. The type of natural vegetation that Kerala State mainly consist of
1. Montane forest
2. Mangrove forest
3. Tropical evergreen forest

4. Tropical thorny forest
6RAR AFIEQ RIIF VS AEYQI YIQER VAR

L Q90 24N

2. 622R AQEH

3. Qe A8R19 59200 AN
4. QYR IR QRS

137. The lowest voter turnout in the Loksabha elections was recorded
In this year.

9@ 98 9029l 6RINARI FFIORER ATRT JPIIG CRITR

@6¢1lQ @QULIRE M

1 1951 - 52
2. 1967
3. 1971
4 1977



138.

139.

One of the following was not a freedom fighter of Andhra
Pradesh
Ponaka Kanakamma
Duvvuri Subbamma
Konda Venkatappayya
Sarojini Naidu
A AIFIEIR X6El 1R L°YIeT 6€1R @ R o)
6dIRIR @ QIRIA
Q2R 4RI
6@I8)| 68 QL

A6QR1 QIRG

Ll A O Rl

Identify the planets that do not have the satellites in the
following

Mercury - Mars

Venus - Uranus

Mercury - Venus

Uranus - Mars

¢ FIQ RAYE |YQI J295] §9¢ /9
Q - G
9@ - gIeq
Q- 99
QAR - AIErR

Ll O R R o



140. The dynasty of Delhi Sultanate that ruled for the longest period

141.

142.

was

1. Slave dynasty

2. Tughlaq dynasty

3. Lodi dynasty

4, Khilji dynasty

AR IAQIR AFFYLTRQ AN A AR *QAER
1 QY Q°4l

2. 6Q19nR Q°4

3 G Q°4l

4 NG Q°4l

This is a physical input for Agriculture

1. Soil

2. Machinery

3. Chemicals

4. Storage

42l Q8Q 6wleQ Ame
L el

2 QeI

3. Qe

4 L° QA4

The great bath of the Indus valley civilization was found in this
city

Lothal

Harappa

Dholavira

: Mohenjadaro

§ QU0YRI ARG ATAR '92G RN & ATAER AR
eRIGIR
204l
SUIRQIQ
cl6al 62IQI6al

~Pwnh e

Ll A o))



143.

144,

Marcopolo praised this Pandya king’s administration
1. Bhillama

2. Singhana

3. Thailapa

4, Kulasekhara

g QIIAURIF SIARQ AIERISAIER! JE°A KRR
1. QA

2. Qqel

3. 6oadl

4.  QREATQ

The first Health Minister of Independent India was
1. John Mathai

2. Jagjivan Ram

3. Baldev Singh

4. Raj Kumari Amrit Kaur

AIRI1Q QAAPQ Y2IF A AR
1. @] aaR

2 RIS QAUE

3. Qp6eede

4 QURYAAT TS KRR



145. “Knowledge Acquisition is always interdependent. Children
observe, better than adults, Understands well. We must recognize
their ability in the creation of knowledge” said by

1. Piaget
2. Cunningham
3. Spears

4. Prof. Yashpal Sharma
“RIQ 2Fe ATQ QA AR FNAGIR | FAIT PRFI6R

dNAIEe am FAIVE K9G, AR NG Q8B | K YT
6Q7IeE Q@FGI B QARIQ I6E 58QI QARIQ” 611N FLY6M -

1.  Jaes

2 alaagalle]

3. @edg

4. geTAq YA Sl

146. Making a final conclusion involving a value-based decision is

called

1. Test

2. Examination

3. Evaluation

4. Assignment

Ry GEe Q9@ AL @G0 1@ 9918 AR 629Ig N2l QRIMIN

1L 91”8
2. QIS
3. RueR
4. Q@4



147.

148.

The cardboard or a wooden board that has precisely spaced holes
which is used as a teaching learning material is

1. Hook and loop board

2. Peg board

3. White board

4, Magnetic board

42 RIFERIE Q1 99 RI0 6% 69Ke6q A0R ARER 89 2l
Q12| FYIAUL AN QIR IS I BILI 62RF -

L g% 9e° Q9 6QIe

2. 699 6]I1%

3. Q9 69e

4. QUG 691G

“A project is a wholehearted purposeful activity proceeding in a
social environment” defined by

1. Kilpatrick
2. Stevenson
3. Billard

4. Binning and Binning
AT AAERE6Q ARTTR QU6R, ARI AQAER QAR IS

AR @ gOF — 6QIR RIYAIR FR6R

1.  @QeR

2. 86QQQ

3. QRIe

4 QAR IQ° QURFR



149. Identify the guiding principles followed in the design of Social
Science texts

a. An inclusive method

b. Continuous and Comprehensive Evaluation

C. Connecting the curriculum to real life experiences
e. Lack of connection with other subjects

049X QUARER AGAQENG 67170 Jagede Fadg 980
@

a. 2256941 980

b. QQeER Y9 AAYR RUILG

C. 6U9GR 990 AL dIoYQ AR

d QY GFL AL A°6AIG @ QER

1. a c,d

2. a,b,c

3. b,cd

4, a,b,cd

150. This aspect does not come under the Trans disciplinary
Approach
1. Using technology

2. Deep study between different subjects

3. Facilitating student research

4. Separation of various subjects.

<l

IHRIRR JFEQ QUG 6RIRRER T
98 GIQ QILLIQ

FRR ST FIRIEA IVIQ SR

A1ElIg G698 IRl K89

Q0R GYLQ YRR KQQ!

S SR



